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BB P Db DEFEE (RIAE) SERFE

1. (p.23 2.2-4.1(d)) D EDITHIMIERITH 2759 & L, 1EHIZ 6 X751
R X, (25 H)
1 -1 -1
A=|-1 2 2
2 1 2

2. (p.25 2.3-Ex5) DE DM 1 RABKEME, —ME%r TR & FPE 2 F2oE
VL1 RITEROIEARMBD 1 XEEG O, DIFTRE, (25 &)

r -3y —2 +2u =3
—r +3y +2z —2u =
—x +3y 44z —2u =
2¢ —6y —5z +44u = —6

3. (p.51 4.3-Ex7) a; = (—1,0,2), as = (3,1,-1), a3 = (1,1,3), ay = (7,2, —4) T
9%’53/1—% R?’ O)%Bﬁj\% Eﬁ% V= L{al,ag,ag,a4} ET% Dk :;g’

(a) VoXItE —HORIKZ KD X,
(b) b1 = (5,2,0), by = (1,1,3), by = (=9, —2,8) 1Z V 2B T % T & ZR¥,

(25 1)
4. (p.71 5.1-3.1(c)) XDITHIDMIEME & Z 1w T 2 [EH2EMZ KD K. (25 &)

5 =7 =7
A=\ -4 8 7
4 =10 -9



